WEFFIR - HRKER
HRE
HRE
HRE
HRE
HRE
HRE
HRE
iR
vkl
vk
iR
vk
vkl
vk

s LXK
s ALK
s LXK
s LXK
s ALK
s LXK
s ALK
s X
s X
s RX
s RX
s X
s X
ik RX
Hism hREK
Hism hREK
Hism hREK
Hism hREK
Hism hREK
Hism hREK
Hism hREK
e IR
R IR
R IR
R IR
R IR
e IR
R IR
Hism KEX
Hism KEX
Fism KEX

&

EEH

it A

EE3:¢

AET M

T34

mHCRBEX BN
it

EEH

it A

EE3:¢

AET M

T34
ML REX BN
ity

EEH

it A

EES:¢

AET M

T3H

ML RBXER T
it

EEH

Tt A

EES:¢

AET M

T 3EH
mHLREXER T
it

EEH

it A

EES:¢

AET M

T3H

ML REXER T
it

EEH

it A

EE3:¢

AET M

T34

ML REXER T
it

EEH

it A

EE3:¢

R2/1
-1.2
-0.3
-1.5
-0.3
=19

0.0
0.9
-0.6

0.9

0.0

-0.9

0.7

0.2

1.1

0.7

-0.4

0.7

0.5

-0.3

-0.9

R3/2
-1.2
-0.1
-1.2

0.0
=15
0.1
0.5
0.2

1.5

0.4

-0.8

0.7

0.7

1.7

0.9

0.0
0.6

0.7

2.0

-0.2

-0.6

R4/3
-1.1

0.4
-0.9
0.4
-1.5
0.4
1.2
0.9

2.2

0.6

-0.5

1.2

2.8

2.1

1.6

2.0
1.6

0.9

2.1

0.1

-0.5

R5/4
-1.0
1.4
-0.8
0.6
=1.3
0.7
2.3
1.2

2.2

0.7

-0.5

1.4

2.9

1.9

2.7

3.6
2.1

0.9

2.1

0.2

-0.5

R6/5
-1.1
0.5
-0.7
0.4
-1.4
0.2
0.3
1.3

1.2

0.9

-0.5

1.3

2.8

1.6

1.8

0.5
2.3

0.9

2.0

0.1

0.0



Frmm MEKX
Frmm MEKX
Frmm MEKX
Frmm MEKX
Frmm mX
Frmm mX
Frmm mX
Frmm mX
Frmm mX
Frmm mX
Frmm mX
Frmm X
Frmm X
Frmm X
Frmm X
Frmm X
Frmm X
Frmm X
e FEHEX
Fem™ FEHEX
e FEHEX
Frmm FEEX
Frmm EEX
Frmm EEX
Frmm FEEX
R
R
R
R
RE™
RE™
R
=%
=%
=&
=&
=%
=%
=%
sl
sl
sl
sl
sl
sl
sl

HAET M

T

AL ABEXIBEN T
3t

EEH

T R A

E S

AET M

T

AL ABXIEN T
M3t

EEH

i RiA

E S

AET M

T

AL ABXIZIN T
ity

EEH

i R iA

E S0

AET M

T

AL ABXIZEA T
Mty

EEH

T R A

E S

AET M

T

AL ABXEN T
ity

EEH

£ R oA

E S

AET M

T

AL ABXEA T
3t

EEH

T R A

E S

AET M

T

AL ABXEA T
st

-0.7

-2.3

0.0
0.9
-0.5

0.5

-1.2

-2.0

-1.2

-0.3

-1.6

0.0

-1.8

0.0

-0.4

0.0

-1.7

-1.3

-1.2

-0.6

-1.7

0.1
0.9
0.3

0.8

-1.1

-2.0

-1.2

-0.3

-1.7

0.0

-1.4

0.0

-0.4

0.0

=1L.9

-1.6

-1.8

-0.5

-1.3

0.3
0.4
0.5

2.7

-1.0

-1.9

-1.2

-0.3

-1.5

0.5

-1.5

0.0

-0.4

0.7

-2.0

-2.1

-1.8

-0.5

-1.4

0.7
0.9
0.3

3.2

-1.0

=13

-1.2

0.0

=18

0.7

-1.4

0.8

-0.4

0.7

-2.2

=2.3

-1.8

-0.8

-1.1

-0.9
0.0
-0.5

0.0

-1.1

-1.3

-1.2

0.0

-1.1

0.3

-1.3

0.0

-0.2

1.3

-2.2

-2.4

-1.9



|
BT
BT
BT
BT
BT
BT
INFET
INFETH
INFET
INFET
INFET
INFET
INFET
T
T
T
T
T
T
T
+HETH
+HETH
+HETH
+HETH
+HETH
+HETH
+HETH
R
R
R
R
R
R
R
MNEH
MNEH
MNEH
MNEH
MNEH
N EH
N e
e

= e el
Fue

#

8y

[5]

8y

Eil=

[5]

#

EEH

£ R oA

E S

AET M

T

AL ABEXEN T
M3t

EEH

T R A

E S

AET M

T

AL ABXBA T
st

EEH

T RoAH

E S

AET M

T

AL ABXEN T
3t

EEH

T R A

E S

AET M

T

AL ABXEA T
ity

EEH

£ RoAH

E S

AET M

T

AL ABXEN T
3t

EEH

T R A

E S

AET M

T

AL ABXEN T
3t

EEH

T R A

E S

HAET M

-1.0

-1.3

-2.1

-2.7

-0.9

-3.0

-3.6

-1.8

-1.4

-1.5

-2.0

-2.1

-1.2

-1.8

0.0

-0.9

-2.1

-1.0

-1.2

=23

-3.0

-0.9

=31

-3.4

-0.9

-1.6

-1.8

-1.7

=19

-1.2

-1.6

0.7

-0.7

=19

-1.0

-1.1

-2.4

-3.0

-0.9

-3.2

-3.0

-0.9

-1.7

-1.9

-1.6

-1.6

-1.2

-1.6

0.7

-0.7

-1.9

-1.1

-1.1

=203

-2.7

-0.9

=8.2

=31

-0.9

-1.8

=19

-1.4

=13

-1.2

=1.3

0.7

-0.4

-1.8

-0.9

-0.8

-2.3

-2.8

-0.9

-3.4

-3.2

-0.9

-1.7

-2.0

-1.0

-1.1

-1.2

-1.3

0.0

-0.4

-2.0



\_\_L¢
==
sy

\_\_L¢
==
sy

\_\_L¢
==
sy

B |

m)llH
m)llH
=17
=Y1Ins
)
)
)

B PR

Il
%ﬁa [T
RE)lm
W
wem
Wt
W
wemh
W
Wt
HRET
AR
AR
AR
ARH
ARH
ARH
FHH
FHgH
g
a5
i
o5
FHH

BRI BF
BRI BF
BRI BF
BRI BF
B BF
BRI BF
B BF

T
T
T
T
M
M
M

-

BB ™

T

AL ABEXEN T
3t

EEH

T R A

E S0

AET M

T

AL ABEXEN T
3t

EEH

£ RoAH

E S

HAET M

T

AL ABEXEN T
M3t

EEH

T R A

E S

HAET M

T

AL ABXEN T
Mty

EEH

T RoAH

E S

AET M

T

AL ABEXZN T
3t

EEH

T R oA

E S

AET M

T

AL ABXEN T
M3t

EEH

T R A

E S

AET M

T

AL ABXEA T
st

EEH

0.3

-1.9

-2.6

-1.2

-2.4

-3.8

-1.8

-0.6

-0.9

-1.8
-1.8
-2.7

-1.2

-1.3

-1.3

-1.7

-3.5

-2.7

0.3

-2.0

-2.7

-1.8

-2.6

=87

-0.9

-0.7

-1.0

-1.8
-0.9
-2.6

-0.9

-1.4

-1.4

-1.7

=8.2

-2.6

0.3

-2.2

-2.8

-1.8

=2.

-3.4

-0.9

-1.0

-1.0

-1.9
0.0
=2,

0.9

-1.3

-1.4

-1.6

-2.1

-2.4

1.1

=203

-2.6

-1.2

=25

=8.2

-0.9

-1.0

-0.9

=19
1.8
=25

1.6

-1.1

-1.4

-1.4

-2.2

=23

1.1

-2.4

=25

-1.3

-1.2

-3.0

-0.9

-1.0

-1.1

-1.9
1.8
-2.4

2.0

-1.0

-0.7

-1.5

-2.3

-2.4



BAm

BAm

BAm

=AM

BAm

=
ERAm
ERAm

[E2):: 0]
FRAm
FRAM
ERAm

R RA
BT

BT

BT

BT

BT

BT

BT
JtSE IR AREC BE HT
JbSE IR AR S BE T
JbSE IR AREC BE BT
JtSE IR AR S BE T
JbSE IR AR S BE HT
JtSE IR AREC BE HT
JtSE IR AR S BE HT
7S R AR IR E A
7S R AR INE A
7S R AR E A
7S R AR INE A
7S R AR INE A
7S R AR INE A
PSR AR INE A
S R B FE _E T
S R ER FE _E T
A S R BR FE _E T
S R BR FE _E T
S R BR FE _E T
S R ER FE _E ET
S R ER FE _E T
B R AR B R T
B R AR PR & T
B R AR B R T
B R AR PR & T

RRRER A Y

T RoAH

E S0

AET M

T

AL ABEXIEN T
M3t

EEH

T RoAH

E S

AET M

T

AL ABXEA T
3t

EEH

T R A

E S

AET M

T4

AL ABXBA T
ity

EEH

T R oA

E S

AET M

T

AL ABXEN T
3t

EEH

T R oA

E S

AET M

T

AL ABXEN T
M3t

EEH

T RoAH

E S

AET M

T

AL ABXEN T
M3t

EEH

T R A

E S

HAET M

T

-1.8

-1.9

-2.2

-1.3

-1.4

-1.3

-1.1

-1.1

1.3

-1.8

-2.7

-1.1

-1.9

-2.1

=19

-2.1

-1.1

-1.4

-1.4

-1.1

-1.1

2.5

-1.8

-2.8

-1.1

=19

-2.1

-0.9

-1.8

-1.9

-0.8

-1.5

-1.4

0.0

-1.1

2.4

-1.9

-2.7

-1.7

-2.0

=19

-1.0

-2.1

-1.4

-0.7

-1.6

-1.4

0.0

-1.2

2.4

=1L.9

-2.8

-1.7

-2.0

-1.9

-1.0

-2.0

-1.5

-0.8

-1.6

-1.4

0.0

-1.2

2.9

-1.9

-2.8

-1.6

-2.1



BB RER A E Y
BB RER P E Y
= SRR IR T
= SRR IR T
= BRI T
= SRR IR T
= SRR IR ET
= SRR IR ET
= SRR IR T
R OB AR S R ET
F FBOBAR S R ET
R FROB AR S R ET
R FBOBAR S R ET
R OB AR S R ET
R OB AR S R ET
R OB AR S R ET
A ER R EE AT
R RN R E AT
R ER R EE AT
R RN R EI AT
R ER R EI AT
R ER R EI AT
A ER R E AT
A SPIBR A IS

A SPIBR A SIS
A SPIBR AP
A SPIBR AP
A SPIBR AP
A SPIBR AP
A SPIBR AP
EARARER) A
EARARER) A
EARARER) A
EARARER) A
EARARER) A

EARARER) A

EARARER) A

EARARER B
EARARER B
EARARER B
EARARER B
EARARER B
EARARER B
EARARER B
(#)

(#)

AL ABEXIRA T
st

EEH

T R oA

E S

AET M

T

AL ABXEN T
M3t

EEH

T R A

E S

AET M

T

AL ABXEN T
M3t

EEH

T R oA

E S

AET M

T

AL ABXEN T
M3t

EEH

T R oA

E S

AET M

T

AL ABXEN T
M3t

EEH

£ RoAH

E S

AET M

T

AL ABXEN T
3t

EEH

T R A

E S

AET M

T

AL ABXEN T
Mty

EEH

T R A

-1.8

-3.0

-2.6

-1.6

-1.0

-2.3

-0.7

-1.6

-2.3

=19

=19

=23

-1.8

-1.3

-2.4

-0.8

-2.0

2.4

-1.9

-1.9

-2.4

-1.1

-1.4

-2.4

-0.8

-2.0

=2

=1L.9

-2.0

-2.4

-0.3

-2.1

=2.9

-0.8

=2.5

=23

-2.0

-2.0

-2.0

0.0

-2.1

-2.6

-1.1

=2.

-1.7



(#)
(#)
(#)
(#)
(#)

EE3:c

AT HEHR

T
ML AEX IR EH
e

-1.9

=15

-1.5

-1.3

-1.4



